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PartI: Multiple-Choice Questions: Select the best answer for the following questions.
(3% for each question) (36%)

1. Achange from FIFO to LIFO in a period of rising prices will
a. increase the current ratio and decrease the inventory turnover ratio.
b. increase both the current ratio and the inventory turnover ratio.
c. decrease both the current ratio and the inventory turnover ratio.
d. decrease the current ratio and increase the inventory turnover ratio.

2. The existence of which of the following would be indicative of a company with
a complex capital structure?

a. Nonconvertible preferred stock

b. Common stock

c. Nonconvertible bonds

d. Stock options

3. Which of the following would not affect the balance of the Retained Earnings
account?

a. Stock split

b. Net loss

c. Stock dividend declared

d. Cash dividend declared

4. OnJune 1, 20x9, Candy Corporation had 40,000 shares of $10 par value

common stock outstanding. On June 2, 20x9, Candy declared a 40 percent stock

dividend to be distributed on July 5, 20x9, to shareholders of record on June 15, 20x9.

‘What amount of retained earnings should be transferred to contributed capital because

of this dividend?

. Par value per share multiplied by the number of dividend shares

. Market value of the stock at the date of distribution multiplied by the number
of dividend shares

o

None

a o

Market value of the stock at the date of declaration multiplied by the number of
dividend shares
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5. Other postretirement benefits should be expensed
a. as they are received by the employee.
b. on the employee's retirement date.
c. when the employee is hired.
d. as the employee earns them.

6. Which of the following items will NOT appear on the books side of the
reconciliation?

a. The bank collected a note receivable of $1,000.

b. A nonsufficient funds check of $75 returned to the bank.

¢. The bank recorded a $2,000 deposit as $200.

d. The bank charged a service fee of $20.
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Part Il Multiple-Choice Questions: Select the best answer for the following questions.
(4% for each question) (52%)

1. Nelson Corporation purchased 8,000 shares of Lar Corporation common stock
for $40 per share on January 1, 20x9. Lar reported net income of $111,000 for 20x9
and paid dividends of $45,000 during 20x9. As of December 31, 20x9, the market
value of Lar Corporation common stock was $40 per share. Assuming the shares
owned by Nelson represent 30 percent of the total outstanding stock of Lar, Nelson
Corporation should report income from this investment for 20x9 of

a. $19,800.

b. $33,300.

c. $0.

d. $13,500.
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2. Sam Corporation has retained earnings of $200,000. It has 5,000 shares of 6
percent, $100 par value preferred stock outstanding that is callable at 102. The
preferred stock is cumulative, and one year of dividends is in arrears. It also has
10,000 shares of $50 par value common stock outstanding. Assume all stock is issued
at par. The book value of each share of common stock is

a. $51.

b. $66.

c. $50.

d. $69.

3. Baker Corporation has 3,000 shares of $100 par value, 7 percent cumulative
preferred stock, and 10,000 shares of $10 par value common stock outstanding during
its first five years of operation. Baker Corporation paid cash dividends as follows:
20x7, $14,000; 20x8, $44,000; 20x9, $65,000. The amount of dividends received by
the common stockholders during 20x8 was

a. $43,500.

b. $43,000.

c. $16,000.

d. $42,500.

4. Sunshine Corporation issued $100,000 of 20-year, 6 percent bonds at 98 on one
of its semiannual interest payment dates. The straight-line method of amortization is
to be used. After seven years, what is the carrying value of the bonds?

a. $98,700

b. $99,650

c. $98,350

d. $97,300
5. Global Corporation issued 10-year term bonds on January 1, 20x9, with a face
value of $800,000. The face interest rate is 6 percent and interest is payable
semiannually on June 30 and December 31. The bonds were issued for $690,960 to
yield an effective annual interest rate of 8 percent. The effective interest method of
amortization is to be used. How much bond interest expense (rounded to the nearest
dollar) should be reported on the income statement for the year ended December 31,
20x9?
. $55,277
. $55,422
. $55,131
. $48,000
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6. Apple Appliances sells dishwashers with a 3-year warranty. They expect 3% of
the dishwashers to need repairs in year 1, 7% in year 2 and 15% in year 3. They sell
500 dishwashers in 20x9 with the warranty in effect from 2009 to 2011. Each repair is
estimated at $40. What is the total estimated warranty payable for Apple regarding
the sales in 20x9?

a. $5,000

b. $ 600

c. $1,400

d. $3,000
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& 40,000
b. 49,000
c. 440,000
d. 539,000
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a. 60,000

b. 70,000

. 210,000

d. 385,000
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a. 180,000

b. 160,000

. 140,000

d. 120,000
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a 560,000
b. 572,000
¢ 602,000
d. 632,000
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Paret IIL. (12%)
Indicate on the blanks below the letter of the type of activity (O = operating activity, I
= investing activity, F = financing activity, N = noncash transaction) each of the
following transactions represents.

1. Company sold shares of its own stock for cash.
2. Declared stock dividends.
3. Declared and paid cash dividends.

4. Received interest income.

5. Exchanged shares of stock for 15-year bonds.

6. Paid interest on note.




